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1. 20% The diode shown in Fig. 1 is with Ig=2 x 10°A. Calculate Vp; and Iy for V= 0.7V and 1.5V,
respectively.
I'x
+ R, = 2 k()
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Fig. 1

2. 20% Assuming V;, = V), sinax, plot the output wave form of the circuit shown in Fig. 2 for an initial
condition of +0.5V across C;. Assume V, = 5V.
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3. 20% Calculate Vyin Fig. 3 if Iy=2 x 1071A.
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Fig. 3

4. 20% Draw the small signal circuit by using hybrid-n model for the following BJT circuits.

— Ve ]

oo
1)
L AMi——e

W

(@ (b)
Fig. 4

BRREEEH

# @ o H HA



| lo-2
RIKRE 0] 2FEERELLHBL AP A A KRR

27 BRIBZAZFR #B:8 F £
XA TAISHEHZ) B3 & A% 5 K& 2 ]

5. 20% Calculate v,,/v;, for the circuit shown in Fig. 5. Assume Is= 8 x 10"16A, L=100, and V4= co.
Also assume the capacitors are very large.
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